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Answer four questions from two genres only. These questions should be taken from the two genres you
have studied.

Genre: Epic

Question 1. Homer Iliad 6.440-458

(a)

(b)

(©)

(d)

2211-2952

440 v O avte mpooéelmne péyag kopubatoAog “Extwor
“1 kat éuot tade mavta péAeL, yovar aAAo HAA™ atvawg
aéopatl Towag kat Towadag EAkeoimémAovg,
al ke Kakog s vOopLv aAvokdlw MOAEHOLO*
oVd¢ e OUHOG Aavwyey, émel pabov Eupevat é00A0g

445 atel kal mpwrtowot peta Toweoot paxeoBat
AQVUHEVOG TTATEOG Te HEYA KAE0G O’ EHOV aUTOV.
€0 YOO £yw TOde olda kata PoEva kal katax OLHOV*
gooeTatNuaQ 6t av Mot 0AwAT "TAL0¢ (o)
kat Iotapog kat Aaog eébppeAio Ioudpoto.

450  &AA’ 00 pot Towwv tooo0ov pHéAel dAyog Omloow,
ouT avtng Exdapng ovte Ioidpowo avaxtog
0UTE KAOLYVITWYV, Ol KeV TTOAEEC Te kal Eé00A0L
€V KoVInoL éooLev VT AVOQACL dLOLEVEETTLY,
60000V €V, 0Te KEV TIC AXALWV XAAKOXLTWVWV

455  dakpuoesooav ayntat EAeVOeQOV TJUAQ ATTOVEAC'
Kal kev €v Agyet éovoa TEOG AAANG loTov DPaivolg,
Kal kev VOwQE Pogéolg Meoonidog 1) Ymepeing
TOAA" dekalopévn, koateEn O émukeloeT avaykn).”

N Kat éuot ... énov avtov (lines 441-446). Select two characteristic features
of the heroic ethos which are present in these lines.

Translate lines 447—449, €0 yap éyw ... IToudpoto.
Scan lines 456457, xai kev ... Ymegeine.

How is Hector perceived throughout the passage? Illustrate your answer with
two quotations from the text.

[2 marks]
[3 marks]

[2 marks]

[3 marks]
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Genre: Epic

Question 2. Homer Iliad 6.404—424

NToL O pev peidnoev Dwv £g malda oL’
405 Avdpopdxn 0¢ ol ayxtL maplotato ddkpv xéovoa,
&v T &oa ol U xelol €mog T EdPat’ €k T ovouale
“dorpodvie GpOloel oe 10 0OV HéEVOG, 0V EAeaipels:
TIAOA Te VNTUAXOV Kol €l AUHOQOV, T TAX X XT)oN
O€v E0OHAL TAXA YAQ O KATAKTAVEOLOLY Axalol
410  mavrteg epoounOEévTeg: EpoL O¢ ke KEQOLOV el
oev aPapagTovot) x0ova dvpevar ov Yo €t AAAN
£otat OaATwoET) émel av oV ye MOTHOV €MOTING
AAA” &xe™ OVOE pOL E€0TL TATIQ KAl TTOTVIAX U TNO.
NTOL YO MATéQ apov améktave dlog AXIAAeVg,
415 €x 0¢ moAw époev Kidlikwv €0 vatetdovoav
Onpnv vpimvAov: kata O éktavev Hetiwva,
OVLOE ULV €EeVAQLEE, 0EAooATO YAQ TO Ve Ouuw,
AAA” doat v KATEKN e oLV €vTeot dadaA ooty
No’ emionu’ éxeev: mepl O¢ mreAéag epvtevoav
420 voudat 00eoTIAdES KOLEAL ALOG alylOXOLO.
Ol 0¢ HOL ETITA KAOLYVNTOL £E0aV €V HEYAQOLOLY
ol pev TAvTES W Kiov fjpatt Adog elowr
TIAVTAG YOO KATETIEPVE TTODAQKNG Olog AXIAAELS
Povoty €’ elAmOde0OTL KAl AQYEVVTC OleooL.”

(a) dawuodvie ... oteoot (lines 407-424). Identify four effective aspects of the
rhetorical art used by the speaker. Remember to refer closely to the Greek and
to explain your choices. [8 marks]

(b) meot d¢ ... atywoxoto (lines 419-420). Give two details about the divine
beings mentioned. [2 marks]

(c) olLdé pot ... oteoot (lines 421-424). Give two details about the characteristic
features of the Homeric language in these lines. [2 marks]

2211-2952 Turn over
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Genre: Historiography

Question 3. Thucydides 2.45-46

10

(2)

(b)

(c)

naoLl O av OooL Twvde TAEEOTE 1 AdEADOIC 0PW HEYAV TOV Adywva (TOV yaQ OUK
ovta amag elwBev emawvev), kal HOAG av kaO’ VTegBoAnV apetng ovx OpoloL,
AAA” OALyw xelpovg kplBeite. GOOVOS yap Tolg Cwol MEOG TO AVIIMAAOV, TO d¢ N
EUTOdWV AVaVTAYWVIOTE evvola TeTiunTal. el O¢ pe del Kal Yuvakelag Tt aQeTrg,
doat vov &v xneela éoovtat, pvnodnvai, Poaxela magavéoel Amav onNUAV®. NG TE
Yoo vmagxoLoNg GLoEws Ur Xelpoot yevéoDat DUV peyaAn 1) d0&a kai Ng av &’
EAaxLoToV agetng TéQLT) POyou v Tolg aoeot KAEOG 1.

“elonTat kat EHoL AOYw KAT& TOV VOOV Ooa 10V IROOD0EQ, Kal €QYw ot Bamtopevol
T HEV 10N KEKOOUNVTAL T O& AUTWV TOUS TIAIOAG TO ATIO TOLOE dNUOCIX 1) TOALS
péxot MPnc Ooéel, wdPEALOV oTEPAVOV TOLODE Te KAl TOIG AELTTOUEVOLS TV TOLWVOE
ayavwv mpoTifeloar ABAa Y 0l Keltal AQETNG HEYLOTA, TOLS D& KAL AVOQES AQLOTOL
TOALTEVOLOLV. VOV 0& ATTOAOPUOAUEVOL OV TTQOOT|KEL EKAOTW ATIOXWEELTE.”

Who are the addressees mentioned specifically in line 1? [2 marks]

TOVYaQ ... tetiunrtat(lines 1-4). How convincingly is Thucydides persuading
his audience of the value of posthumous fame? In your answer, refer closely to
the text. [3 marks]

et 0¢ pe ... kAéog 1) (lines 4-7). How does the Athenian woman appear?
Give two points with reference to the text. [2 marks]

(d) Translate &0Aa ... amoxwoeette (lines 11-12). [3 marks]

2211-2952
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Genre: Historiography

Question 4. Thucydides 2.43.2-5

10

(a)

(b)

(©)

2211-2952

KOLVT] YOO TX OWUATA dDOVTES Ol TOV &YWV EMavov eEAGUBavov Kal Tov Tadov
ETUOTHOTATOV, OVK €V @ KEVTaL HAAAOV, AL év @ 1) DOEa avT@V Tt TQ EVTLXOVTL
alel kat AOYOU Kal €00V KAQQ alelpvnoTtog KataAelmetat. avOQwv yaQ Emdpavwv
TTAoA Y1 TAPOG, KAl 0L OTNAWV HOVOV €V 1) olkelx onuatvet émyoadn), aAAx kat év
TN U1 TEOOTKOVOT) AyQadOg UVIHUN TAQ  EKAOTW TNG YVWUNG HAAAOV 1) TOU €Qyou
EVOLaLTATOL.

og VOV Upelc CNAoavTtes kKal TO eDdALUOV TO €éAeV0eQOV, TO O’ €AevBeQOV TO eVYLXOV
Kolvavteg 1) meEopaoe TOLG MOAEUIKOVS KIVOUVOUGS. OV YOQ Ol KAKOTIQAYOUVTEG
dkadTEQOV Adedotev &v ToL PBlov, 0ig EATG ovK é0Tv dyaBov, AN’ olg 1) évavtia
HeTaoAr €v T (v €Tt kKivduvevetal kat év olg HaAloTa Heydda o dadépovta,
NV Tt TTalowoy. dAYevoTéoar yaQ avool ye poovnua EXovTL 1] HETA TOL [&v Q]
HaAakoOnval KAKwolg 1) 0 HETA QWHNG KAl KOG EATidoc &upa yryvopevog
avaiodnrtog Oavartog.

Explain the phrase tov ayrowv &émoawvov (line 1) in the context of the

opening sentence. [2 marks]

What is the significance of the phrase avdowv émipavwv aoca yn tadpog

(lines 3—4)? [2 marks]

What do you think makes the rhetorical force of this extract so powerful?

Refer closely to the text when illustrating any four significant points. [8 marks]
Turn over
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Genre: Tragedy

Question 5. Sophocles Oedipus Tyrannus 408—425

(a)

(b)

(©)

(d)

2211-2952

Te. el kal TvEAVVELS, EELCWTEOV TO YOUV
lo” dvTIAEEar TOVdE YAQ KAYW KOATW.
410 oV Y& Tt ool Cw dovAog, aAAa Aokia
wot’ oL Kpéovtog mpootatov yeyodouat.
Aéyw O, émedn kal tvpAOV 1 wveldoac:
OV Kol 0€000KAG KOL PAETELS (V' el KaKO,
oVd’ évOa valelg, oVd OTwWV OLKELS HETA.
415 ap’ olo0’ ad’ wv el; kat AéAnOag €x000c wv
TOLG 0OLOLV aVTOV VEQDE KATIL YTNG AV,
Kal 0" AUPITANE UNTEOC TE KAl TOL 0OV TTATEOG
EAQ TOT €K YNG TNodE dELVOTIOUGS A4,
PAémovTa VOV pev 0007, Emelta d¢ okOTOV.
420 orng d¢ tNg OT)¢ TOoLoG OVK E0ToL Atuny,
rtotog Kibapwv ovxt ovppwvog tdxa,
Otav kataioO1) Tov Opévatlov, OV dOUOLS
AVOQUOV eloémMAgvoag, eVTTAOLAG TUXWYV;
AAAwV d& MANO0G 0VK eMALoOAVEL KAKWV,
425 & 0 €Elowoel 00l TE KAL TOIS 00LG TEKVOLGS.

Briefly explain why Teiresias is speaking at this point in the play.
Explain in its context the expression mpootatov yeyodpopat (line 411).

&p olo0’ ... okotov (lines 415-419). Show how Teiresias’ use of language
conveys the gravity of Oedipus’ situation. Give three examples from the text.

Explain the allusions to KiBawowv (line 421), tov vuévaiov (line 422),
and toic oolg tékvolc (line 425).

[2 marks]

[2 marks]

[3 marks]

[3 marks]
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Genre: Tragedy

Question 6. Sophocles Oedipus Tyrannus 46—64

10, ® PootwV apLoT’, AvOeOwooVv TOALY,
10, eVAAPNONO " we o& VoV uev 11de yn
owTtnoa KANCeL ¢ Teog meobuvuiac:
apxng d¢ ¢ o1 UNOAMUWS HeUVOHEDa

50 OTAVTEG T €G 0000V Kal meoovTeg DOTEQOV.
AN aopadeia ™vd’ dvopOwoov oA
OOVIOL YQ Kal TV TOT atoiw TOXNV
TAQETXEC TULV, KAl TAVLV [00G YEVOU.
¢ elmeQ AQEelg TNOdE VNG, WOTEQ KOATELG,

55 ELV AVOQAOLY KAAALOV 1) KEVT|C KQATELV"
WG OLDEV E0TLV OVTE TVQYOS OVTE VUG
€ONHOG VOV UT) ELVOLKOVVTWYV E0W.

Ol © madES 0IKTEOL, YVWTA KOUK AYVWTA oL

meooNAOe0” ipnelgovTeg: €D yap old’ dtL

60 VOO ELTE TIAVTES, KL VOOOUVTEG, WG £YW
OVK 0TIV DV 00T €€ OOV VOOEL
TO MEV YOO VHWV AAYOG €l v’ épxetat
HOVOV KO avtov kKoLOEV' &dAAoV, 11D €un)
PuxN TMOALY T€ KAME KAl O OHOL OTEVEL.

(a) Explain the significance of the clause wg o¢ VOV pév 1)de Y1 owtnea kAT Cet
(lines 47—48), in its context. [2 marks]

(b) Scan lines 59-60, TEOONAOED’ ... wg éyw. [2 marks]

(c) Identify, in the whole extract four stylistic devices, which, in your opinion,
illustrate Sophocles’ literary art. Support your answer with four quotations from
the Greek text. [8 marks]

2211-2952 Turn over
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Genre: Comedy

Question 7. Aristophanes Frogs 135-151

135 ‘Ho. ti dai;

At 1Mjvmep ob tote katnABec. HQ. AAA™ 6 mAovg moAve.
eLOULC Y €t Alpvn v peyaAnv 1€eig mavu
apuvooov. At eita mwg mepalwOooua;

‘Ho. év mAowplw Tuvvoutwl o’ avi Yéowv

140 vavng dtdk&Eet OV OBoAwW HoBOV AaPav.

AL dev, wg péya dLVaoOoV TavTaoL Tw OV OBOA.

nws NABETNV kaxkelog; ‘Ho. Onoevg fyayev.
HeTa TaLT OPelS kal Onol OPet puola
dewvotata. Al pn U €kmAnTTe Unde delpATov”
145 oL yap p’ anotpéels. ‘Ho. eita fogpooov moALv
KAL OKQQ AelvwVv: €V 0 TOUTW KELUEVOUG,
el mov E€vov T NOIKNOE TWTOTE,
N mada Kvav TaQyvotov DPeiAeto,
N untéo NAdaoev, | matEog yvabov
150 Ematagev, N ‘miogkov OQKOV WHOOEV,
1N Mogpoipov tig prow é€eyoaaro.

(a) To what does the phrase 6 TTAovg TTOAUG (line 136) refer? [2 marks]
(b) Who is &v1)o yéowv (line 139), and why is he mentioned in this context? [2 marks]

() ¢ péya ... xakeioe; (lines 141-142). Explain the sarcasm obvious to an
Athenian audience. [3 marks]

(d) el mov ... éEeyoaharto (lines 147-151). What social shortfalls are listed?
Name and comment briefly on three of them. [3 marks]

2211-2952



Genre: Comedy
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Question 8. Aristophanes Frogs 1201-1221

1205

1210

1215

1220

Ev.

At
Ev.

At

amo AnkvOiov oL Tovg EUOvGS; Al EVOG LOVOU.
TIOLELS YOO OVTWG (OT EVAQUOTTELY XTIV,
Kal kwddlov kat AnkvOov kat OvAakov,

&v TolG lapPelowot. deléw O avtika.

oV, ov del&elg; Al dnut. Ev. kat d1) xor) Aéyerv.
Atyvntog, wg 0 MAeloTog €0TIaTAL AOYOG,
EVV TTALOL TMEVTNKOVTA VALTIAQ TIAQTH
Agyoc kataoxwv— Al A0V dntwAeoev.
TOLTL TL 1)V TO ANKVOOV; 0V KAavoEeTAL

A€y’ EteQov avT MEOAOYOV, tva KAl YV TIAALY.
“A6vuoog, ¢ Bvpoolot kat vePwv dopailg
kaBamtog v mevkaot Ilagvaooov kdta
& x0eeVWV” — AL ANkVOOV ATWAETEV.
olpot emANyped av0ig VO g AnkvOOoUL.
AAA’ 0VOEV E0TAL TIOAY A TIQOG YOQ TOVTOVL
TOV MEOAOYOV 0U) €EeL poodpat ArjkvOov.
“ovK 0TV O0TIC TAVT AVIE EVOALLOVEL

N Yo mePpukws e00A0g ovk €xel Blov,

1 dvoyevnc v’ — Al AnkvOoV dntwAeoev.
Evountidn— Ev. 1l €00’; Al OpéoOar pot doxer
TO ANKVOLOV YAXQ TOUTO TIVELOTELTAL TTOAD.

(a) amoAnkvOiov ... d avtika (lines 1201-1204). What points about Euripides’
poetic diction is Aeschylus trying to establish? [2 marks]

(b) Explain the comic effect in the use of the phrase AnkvOwOV anwAeoev

(line 1208). [2 marks]
(c) Discuss Dionysus’ role as a judge in this extract. Illustrate your answer with
four examples from the text. [8 marks]
2211-2952 Turn over
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Genre: Philosophy

Question 9. Plato Crito 43a9—c8

Lw. &QTL O¢ NKELS 1) TAAaL

Ko. émtemcac maAat

Lw. elta g ovK eVOVC ETUYERAS UE, AAAX Oty mapakaOnoay;

Kg. oV pa tov Ala, @ Zakpateg, ovd’ av avtog N0eAov v tooavt) te dyoumvia katl

5 Avmm etval, daAAa katl oo TdAal Bavpdlow aloBavopevog wg Mdéws kabevdels: kat
ETUTNOEC O OVK 1) YEQOV tva g TOLoTa DA Y™C. KAl TTOAAAKIC HEV d1) 0€ KAl TTQOTEQOV
&v mavtl 1@ Biw NOdALUOVIOX TOL TEOTOV, TOAL d& HAALOTA €V TT) VOV TTAQECTWOT)
oLUPOOA, WS PAdIWS AVTNV Kal TEAWS PEQELS.
Lw. xat yao av, @ Koltwv, mAnupeAeg el ayavaxtetv tnAucovtov ovia et del 1)on
10 TeAevtav.
Ko. kal &Adoy, @ Zakpates, TNAUKOUTOL €V TolavTAlS OVHDOEALS AAloKOVTAL, AAA
0VOEV AVTOLG ETAVETAL ] )ALKia TO T OVXL AYAXVAKTELY T TAQOVOT) TUXT).
Lw. €0t tavta. AAAX T 01 oUtw mEw APpréat;
Ko. ayyeAlav, © Zakoates, p£éowv xaAemr)v, oL ool wg éuotl paivetar, AAA™ €uol katl
15 7oic oolg émtndelolg maowy Kal xaAemnv kat Bagetary, v €yw, wg EoL DoKW, €V TOLG
PapUTat av EVEYKALLL.
(a) Explain Crito’s specific reasons for visiting Socrates so early. [2 marks]
(b) Translate o0 pax tov Alx ... kaOeVdelg (lines 4-5). [3 marks]
(c) To what does &yyeAiav xaAemnv (line 14) refer? [2 marks]

(d) Emphasize the dramatic tension present throughout this extract illustrating your

2211-2952

answer with two examples. [3 marks]
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Genre: Philosophy

Question 10. Plato, Crito, 49a2-b11

10

(a)

(b)

(©)

Lw. 00deVL TOOTIW PaAUEV EKOVTAS ADIKNTEOV elval, T) TVL HEV ADIKNTEOV TOOTW TLVL
0¢ oU; 1) oVdAHWGS TO Ye AdKELY 0VTE AyaO0v 0UTE KAAOV, WG TTOAAAKIS ULV Kal €V
T EUTEO00EV XQOVW WHOAOYNON; 1] maoal ULV éketval al TEoocOev OpoAoyiat év
Talode TAlG OALyalg NuéQals Exkexvpévat oy, kat maAal, @ Koltwv, doa tAkoide
Aavopeg EOS AAANAOLS oTtoLdN dlaxAeyopevoL EAGOOUEV TJUAS aVTOVG TTAdWVY 0VdEV
dtapégovTeg; 1) MAvTog HAAAOV 0UTwG €xel WOTEQ TOTE EAEYETO NULV" ElTe Paoiy ol
moAAoL elte Un), Kat elte el 1UAG €TL TWVOE XAAETWTEQX AT ELV ElTE KAl TEAOTEQQ,
OHWS TO Ye ADIKELV T ADIKOVVTL KAL KAKOV KAl AlOXQO0V TUYXAVEL OV TIAVTL TQOTIW;
dapev 1) ov;

Ko. dapév.

Lw. oLdAUWS AQot OEL ADIKELV.

Ko. ov onta.

Lw. 00d¢ ADIKOVHEVOV AQa AVTADIKELY, WG Ol MOAAOL olovTal, Emewdn) ye oLdAMWS
det aduketv.

0VOEVL TEOTIW ... papev 1) oL (lines 1-9). Summarize Socrates’ argument
in these lines. Give four stylistic devices of the text which help to make it
more persuasive. [8 marks]
elte Ppaotv ... mavti 1edmw (lines 6-8). To whom does ot moAAoL refer?
What connection is established here between ot toAAotL and Socrates himself? [2 marks]
Translate ov dnra ... &dducetv (lines 12—14). [2 marks]

2211-2952



